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QUESTION 1

When selecting the list of predictors for an adaptive model you should
A. consider a wide range of properties

B. always use numeric type for integer properties

C. select at least one date property

D. select up to a maximum of 500 predictors

Correct Answer: D

QUESTION 2

evidence an assessment of its viability, the Adaptive Model produces three outputs: Propensity, Performance and
What is evidence in the context of an Adaptive Model?

A. The likelihood of a statistically similar behavior

B. The number of customers who exhibited statistically similar behavior

C. The number of statistical bins used to evaluate the response

D. The number of customers who have responded to the modeled offer

Correct Answer: D

QUESTION 3

Which two factors do you inspect to assess the general health of the adaptive models in Prediction Studio? (Choose
Two.)

A. Model transparency

B. Insights

C. Performance of the models
D. Number of decisions

Correct Answer: AC

QUESTION 4

When executing a decision strategy, the dotted line arrow in a decision strategy means data is
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A. copied to the component the arrow points to

B. referenced by the component the arrow points to

C. referenced by the component the arrow originates from
D. copied to the component the arrow originates from

Correct Answer: B

QUESTION 5

In a strategy defined in the "Retention" issue and the "X-Sell" group, you can import
A. propositions from the Sales issue

B. propositions from all groups under the "Retention” issue

C. all propositions from the system

D. propositions from "X-Sell" group

Correct Answer: C
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